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QUESTION 1

What is the default route preference for BGP?
A. 167

B. 170

C. 150

D. 179

Correct Answer: B

BGP has the default preference .

QUESTION 2

Click the Exhibit button.

— userfR?2# show rouling-options
ISP pﬁ rovter-id 19%7. 16H, 'Iﬂl'l?,' ISP B
AS 55~5°1 auntonomons syslem GHLH03 ) AS 65502
I{_Ji':ﬁ' r J'|-"'.
1\,:'[ / userdR?2§ show prolocols bgp \:-:r{-:_'
\ . group exlernal b F
\ b’ group external-a | :l.-“ !
L peer-as 65503 /
v\ neighbor 172.31.1.2; /S
S } AS
o\ fn_?r'
AT o I
Y AS 65503 ST
N Y
(=L ge0/0/1.0 ge-0/0/1.0 7210
lo0/RID: 192 168.100.1 | Lﬁ_f,r 1/ 100/RID: 192,168.100.2
R1 (1) 17224.1.0/30 (.2) R2

You are unable to establish a BGP session between R2 and ISP-B. Referring to the exhibit, what must be changed in
the configuration?

A. A local address statement with the 100 address must be added to R2 under group external-a;
B. An import policy statement must be added to R2 under group external-a to allow ISP-B to peer.
C. The type external statement must be added to R2 under group external-b.

D. The peer-as statement needs the AS number for ISP-B.
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Correct Answer: D

QUESTION 3

Which protocol supports tunneling of non-IP traffic?

A. GRE

B. SSH

C. IPsec

D. IP-IP

Correct Answer: A

The GRE protocol (Generic Routing Encapsulation) which is a tunneling protocol that can encapsulate a variety of

network layer packet types into a GRE tunnel. GRE therefore can encapsulate multicast traffic, routing protocols (OSPF,
EIGRP etc) packets, and other non-IP traffic inside a point-to-point tunnel.

QUESTION 4

Click the Exhibit button.

{master:0] [edit]
userthostg show firewall family ecthernet-switching
OiGer block |
term 1 {
from |
ip=-protocol icmp;
}
then accept;
ltIﬂ 21
Erom |
ip—source-address [
G e e ey T gt 7 2

}
1
then discard;
|
term 3 |
from |
ip-deatination-adiress |
172.25.11.0/24;
}
}

then discard;

Referring to the exhibit, which two statements are correct? (Choose two.)
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A. All traffic destined to the 172.25.11.0/24 subnet will be discarded.
B. SSH traffic received from host IP 172.25.11.2 will be accepted.
C. Any traffic not matched by one of the terms will be discarded.

D. ICMP echo requests destined to 172.25.11.10 will be accepted.

Correct Answer: CD

QUESTION 5

Click the Exhibit button.

userfhost> show route hidden

+ = BAptive Romte, - = Last Actiwve, ¥ = Both
0.0.0.0/0 [Aggregate] D6:55:56
Discard

inet.0: 40472 descinationa, 83201 rouces (43201 active,

3 holddown, 1 hidden)

Referring to the exhibit, why is the 0.0.0.0/0 route hidden?
A. The next hop is set to discard.

B. You already have an active BGP default route.

C. You cannot make a 0.0.0.0/0 generated route.

D. There are no contributing routes.

Correct Answer: D
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